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Cwunuwingwd k

N SHL-PUUZAR-2018/85/2 quduwil wuwjdwlugnh
« » hnljubdpbp 2018p. Yupduwsd

rhy 2 Cwdwswibwgpny

<UdGLHUD 1
Swyuwwpbpp-Uwhiwhwhy
33 aknwnpniuhgh dwpgh YwpSwnpinp hwdwjuph thnnngukph hhulwunpnguuis
w2juwnwuplbph Yuwnwpdwl
Uhwinph | COnhwhnip
« 2uithh wndtpp wndtipp
Uzluwunwlplbph wiywbnuip Shwynnp Pwlwyp (huq. (hwiq,
nnwy) npwd)
1 2 3 4 5 6
®nnng 1-hi
i <nnwjhl wizjuwinwipltp
LerOwjhO wwwnOGph tjupbgnid
1 dGtuwbhqony (hhnpndnipgny) Vil g3 860 10,351 8902,29
20w
Luwifuopng thiupbigrwe Vil 20w
2 gnniliwnp dawynid b inbinwithnfuned a2 10 0,893 8,93
prinngtinny 500 hgp
V10q gpmGunh Gwiyned L 3
3 wbnwihnfunud pninngbpny 504 |hgp g 100 0.893 8.93
4 Lnijip 11164 gnnibup §? 20,0 0,506 10,11
Lwiopnp thiupbgnwé VI 20w
gnnilinh dawilymd §pulpuudwannpny 3
5 | (0,6503), punénud, tbnwihnuntd d 760,0 5,339 4057.57
(gwlnuwn 1,040
V10q gnntunh d2wyned
6 Fpulwdwunnnny (0,6503). pwndnmd, g 480,0 4,383 2103,67
wbnuwihnfumd jguynuyun 1,048
7 Lnujlp 6 gpnulenp e 580,0 3,560 2064,77
Luwfucpnp thhupbgnwd V20w
qnnilwnh dawlnud b inbnwithnfuncd
8 pnipngbnny 508 Ynunwynudng, O 90,0 6,232 560,88
pwpdnul Epulwidwinnpny(0,650°),
wbnuwihniunud (gwynyu 1.0y
V10q gpnilwnh dawymd L
tnbnunhnfunid prunngbpny 504
9 | Untnwinuing, pwpénid d° 60,0 5,276 316,54
Epulwywiinnpny(0,6543),
wntnwihnfuntd [guinuywn 1.040
10 | Loybp INBY gpniGung 0 60,0 3,903 234,20
Lhgph futnwignd wblnginnGmy gty
11 | htwnpny 6 whgnuiny 30ud pEpwnh bR 40,0 0,740 29,59
hwuwnnpjwdp, enh tnwnwéntdny
1.00nwakop 18297,47
i Swlwwywphwhl wuwnywsp
1 Ujwquynwsuhl pbpun h=10us o 610,6 5,109 3119,36
2 hudwlwquithlG hhdp h=12u3{C5) 2 4604 1,416 6519,49
3 | Swe unannuhunhl w/ptung i 4439 4085 | 1813202
4 | e dubnwhunhl wipbinng 02 4439 4,366 | 1937876
2.20nwdkGp 47149,63
| Unqowltbp




Swidwpnipnuihl HI6Y gpnubunh

1 wnbinwihnfumd wwhnwawnhg 2,040-hg bR 2230 4,193 935,07
Ynnlwbhbph hpwlwbwgdwl hwdwn
2 unnGwlGtph hwppbgnud 02 1060,0 0,020 21,19
UnnOwyibph fuinwgned
3 wOLingnntny 1 hinpny 4 0 223,0 0,726 162,01
whgniiny, onh unwpwdniiny
3.00nunikiop 1118,27
v Nunhlbp
1 UJwaquynwswihb p5pwn h=10ud i 325 4,828 156,89
2 huswwquihG hhdp h=12us(C5) 62 291,0 1,416 412,07
3 ﬁ:gfj g“‘““”’“”’“"h“ w/ptiin o 2750 5,330 1468,24
Anjniginil nelGbgnn unnndwilbph
{d=53000} dwppnud dkinpny, 3
4 pwpdnuy, intnwihnfunud (guynin J 135 7,314 98,73
1,041
Qnynupynil nubbignn funnnywybtiph
5 qthuwunhpbbph Gnpngnud Ghwang s 15 119,085 178,63
ptunling B-15
4.0hnwikip 2314,56
\' Unwunplip
1 Ujwquiynwduhl sbpun h=10ud a3 31,3 4,828 150,86
2 Ewdwquihh hhip h=12ui(C5) 2 298,5 1,416 422,69
3 | puie dubnuhwuhl w/pbiang & 292,5 5,339 1561,67
Qnjnipyntl nebtignn Sbuwnwlywi
lunnnywlh (d=53004) dwppntd 3
4 dtepny, pwndntd, tnbnwihnfunid u 3.0 7.314 21,94
lgwyniyuin 1,044
Lnul fjunnnduwiyh giluwnhpGtph 3
5 Shwany pbnG B-15 4 0,5 119,085 59,54
5.00nwokLp 2216,71
vi Ywpkp
Ujwquynwsught ztpun yupbnph 3
1 wwly h=10ud g 247,125 5,852 1446,29
Ubnwnwywi Yhuwpmnnywlybbnh
2 wnbnunpnud d=53014; gd.d 329,5 36,908 12161,31
1q4.0=45,15lg; &=7104
UhuwpunnnywyGtnh
3 gnwikyniuwgnid pyzknn wwp 02 274,00 1,967 539,01
phunnudng
Qnnipinih nulgnn Jupknh
4 dwppnwd dbrpny, pwpdndd, ON 20,0 7,314 146,28
ubnwhntund (gwlnyun 1,044
6.00nwikGn 1429289
Vi Lolwuwjunn
M6y gnnibwnh dawyned L pwpdnid
1 tpuljwywinnpny (0,650°%), Wi 7.0 3,560 24,92
nbnwthnfuntd [gwlynyn 1,044
UdwqulnwswihG 2tpwn 3
2 | nbGuwuunh tnwl h=20u d 30 6517 1935
3 <hdph juwidpwnt pewnnt B-20 g 2,7 58,969 159,22
4 Ppwbh uwdpwnt pinnG B-20 g 5,76 60,241 346,99
<Ghwwuwinh gpudbyniuegnid 2
5 bplyzbnun twp phunnrdny d 7.2 1,318 9,49
6 Mwpwwbunh luwdpwpk phunnt B20 g 1.8 60,242 108,43
7 Nupwwbwnh udummd L GGpynug hg 13,44 3,338 44,86




7.00nwdkGp 713,46
Vil Awlwuwwphh Yuwhwynpnwd
Spplbybih dwuh O2wedned
rbpitiinnpuhl 0Gpyny
1,5 ya 0,693 56,519 39,17
8.00nwitken 39,17
IX Uphbuwnwluwt Ywenigywépbnp
1 Ubtnwnwlwi lunnnywlGtp 4 tnbn
d=21944d
164 gpnubwnh dzeuynug
tpuljwduinpny (0,650°%), pwnanud, 6 20,68 3,560 73,61
wbnuhnfunud [gwynun 1,040
Ubitnwnwwl unnndwyh
utinuwnpnud d=21844, d=644, q4.0 517 24,835 1283,96
194.4=31,5Uqg
Ul wquwynwswhl zkpwn
dEnwnwiwt funnnywlyttnh twy L a? 517 5,850 30.25
Upw h=10ud
9.0Gnwiklp 1387,82
®nnng 2-pn
i <nnuhl wzuwunwGpibip
1184 gpnilbwnh dawlmd L 3
1 wnbruwihnfund pripnngtpny 504 |hgp a 10.0 0.506 5.06
164 gnntlwnp gnnilwnp dwlynud
2 tpubwitwinnnny (0,6543), pwnéncd, i 1400,0 3,560 4983,94
nbnwihnfunid guinen 1,040
6y gpaLluinh dowymy L
wnbnwithnfuntd potnngtipny 504
3 Ynunwlnuing, peundncd i 160,0 3,803 624,54
tpuljwunnnpmy(0,6543),
inbnwihnjuntd jgwlinywn 1,044
Lhgph futnwgnid waldngianiny vty
4 htitnpny 6 whgnuiny 30ud zpuwnh 6 10,0 0,740 7.40
hwuwnntpjwdp, oph twpwéniing
1.00nwdbklp 5620,94
] Swlwwwnhwih( wwanwop
1 udwdwquihl hidp h=12ud(C5) i 4056 1,416 5743,50
2 ﬁiﬁf"znnwhwmh“ Ww/ptunnk 2 3847 4,085 15713,87
3 ﬁ:jﬁ g'““““mh““"hu wi/ptinna 52 3847 4,366 16794,34
2.00nwdklp 38251,72
th YUnnGuwlyllbip
Swdwpnipnuht 64 gprtunh
1 inbinwihnfuntd wwhniuinhg 2,04d-hg O 177,0 4,193 742,19
Ynnbuwlybbph hpwlwbwguuih hwidwn
2 UnnGwlytbph hwpebigntd o 743,0 0,020 14,85
Unnlwylkph unwgnud
3 WokdnginnGny 1 hinpny 4 i 177.0 0,726 128,59
whgnuiny, onh tnwpwénuing
3.00nwdkap 885,62
v Ninhokp
1 AW wqwihb hhdp h=12ui{C5) o 3455 1,416 489,25
2 | Swe dulinuiuanhl w/pking 02 331,5 5,339 1769,89
4.00nwiklp 2259,14
A Ununpbp
1 huswwquihl hhdp h=12ui(C5) 2 2217 1,416 313,94




Swp dwlnwhwwnhy w/pkuni
h=5ud

02

2127

5,339

1135,61

6 qpnubwnh dawlnid
tpuywywnnpny (0,656°), pwpénid,
unbnuwihnfunud (gwynyn 1,044

03

2,80

3,560

9,97

Utinwnwijwil unnnyuilgh
wnbinwinpnud d=21944d, d=604,
1q0.4=31,54qg

qgd.d

7.0

24,835

173,84

Uy wquiynwSwiha 26nwn
dEwnwnwlw funnnywylbnh nwl
Jnw h=10ud d=21954

=

ljs

0,70

5,850

. 4,10

Udwqulnwsuwha 2kpwn
dhvnwnuiyuwt junnnywlobnh unwuly
h=10ud d=32500

12

5,850

7,08

Ubtitnwnuwtjwl funnnyuwyp
wbnwnpnd d=32534, d=504,
190.4=39,5Uq

12,1

31,669

383,19

Uhwényy peinnG funnnywyh
quuinhpbbiph dwumyd  B-15

0.2

119,105

23,82

5.00nwdklp

2051,55

vl

Jwpbp

UjwquynwSuhb 25pin Juptknh
wnwly h=10ud

135,75

5,852

794,43

Utinuwnuwlwl Ghuwunnnywlibph
winGnwnpnd d=5304d4;
1q06.0=45,15Yq; =704

181

36,908

6680,41

Uhuwlunnnyuwllknh
gnwdkymuwgnid Bpyztipun tnwp
phunnuiny

150,50

1,867

296,09

Anpueynul nuabignn Ywptiph
dwpnnud dbrpny, pwpdénes,
unbnwichnfuned pguwiljnugun 1,048

7.2

7.314

52,66

6.0 Enwikip

7823,59

Vit

Swlwwuphh uhwynpnd

EnpLbybh dwuh Gawagdnud
rbbEYwnnpwhl Ghpyny

1,5

Ld

0,635

56,520

35,89

8.00nwdkap

35,89

Uphbutnwijwl Ywengywéplbp

Ubiinwnwlwh fjunnnuwyltp 2 nbn
d=3251a4,

ey gpnilunp dzwynca
Epuywdwnpmy (0,650%), pwpanud,
intinwihnfuncd (gwynuun 1,040

12,4

3,560

44,15

Lnjlp wnbnnud Ynuurwynedny

24,8

0,545

13,52

Ujwquynwswihi ztinwn
dEtnwnwlwa furnnywybsph wmwy
h=10ud

1,74

5,857

10,19

Ubunwnwywb funnnywyh
wnbnwnpnid d=32544, d=544,
1q6.0=39,5q

20,5

31,668

649,20

funnndwilh onwibyniuwgnid
BpYzbpun thwp phunnudng

6,73

1,967

13,24

<{Gunwnwnd thgp

24,8

0,106

2,64

Ubtnwnuiywi funnnguwlyabp
d=21904

0,00

164 gpnLbunh dzwilyniy
tpulwywnpny (0,650%), pwipanid,
ntnwihniunid (guibinugun 1,040

lja

8,88

3,560

31,61




Ubuinwnuwlw( funanguwgh

tnbnwnpnid d=21904, d=644, g&.a 22,2 24,835 551,33
1g6.0=31,5Uq
Udwquiljnwduwhl 26w
dbunwnwws funpnywyobph nwl b N 2,22 5,850 12,99
dpw h=10ud
9.0C0nwdkip 1328,86
®nnng 3-pn
| Znnuihlh wluwunwbplbp
16y gpnibwnh dwymd L 3
1 wbnwihnpurd pnnngbinnty 504 thge 4 100,0 0.506 50,55
164 gpncluwnh dowynud L
nbnuthnjunud prusngspny 500
3 Ynunwlynudny, punanid il 330,0 3,903 1288,11
tpuliwywinnpny(0,654%),
intinwuhnfunid jgwlngun 1.04s
Lhgph fuunwgnud wldngganany gk
4 htinpny 6 whgnuiny 30ud ykpuwnh i 100,0 0,740 73,98
hwuinnipjudp, oph wiwpwénuing
1.00nwdkip 1412,64
] Swbwwywphwihf wuunywép
1 UWwquiynwsunhl 26puin h=10u ¢ 450,0 5,109 2298,88
2 hssw]wiquih hhdp h=12ui(C5) 72 3569 1,416 5053,88
3 | Sule hunznpuwhuwhly w/ptun 02 3497 4085 | 1428423
4 | Swe dulpubuinhl w/ptiang N 3497 4366 | 1526640
2.06nwikbp 36903,39
i UnnGwakp
Swdwpninnuwht 11164 gnnLbuwnh
1 tntinwihnfunud wwhnwuinhg 2,04d-hg N 777 4,193 325,81
Ynnhwybtinh hpwiwbwgdwl hwiwp
2 UnnGwyltinh hwppbgni o 370,0 0,020 7.40
YnnlwlGtph uwntugned
3 walkdnginnOny 1 hbwnpny 4 i 777 0,726 56,45
wognuiny, onh tnwnwénuiny
3.00nwikip 0,000 389,65
v Nunhbp 0,000
1 UJwaquwlnwduyht 25puin h=10ug i 56,5 4,827 272,75
2 hudwwquihl hhip h=12ui(C5) g2 498,2 1,416 705,48
3 | Su lulpwhunnhl wipting 52 484,2 5,339 2585,16
4.00nuwiklp 3563,39
v Unuinpbip
1 UJwquynugwhb z6pn h=10ud g 294 4,827 141,92
2 | nSujwquihG hhip h=12ui(C5) i 282,0 1,416 399,33
3 fj‘sﬁg“‘““w“‘“mh“ w/pGng o2 252,0 5,339 1345,44
5.00nwdkip 1888,71
Vi Jwptip
Qrympintl nuignn Jwpbnh
1 | dwppnud dékepnd, pwnantd, 0N 48,90 7,314 357,65
wnbnuwihnfunud (gwilynuun 1,040
6.00nwikhp 357,65
Vil Swlwuunhh Ywhwynpnud

Bnplbyblh dwuh Ozwgdnug

rbdIEYnnnwhi O6pyny




[ 1.5 | w [ oss 56,524 32,67
7.00nwdkap 32,67
Vil Uphbunwlub YuenigwépliGn
u Ubunwnuiywi junnnyuilGbn 3 inbn
" d=32514,
M6y gpniGuinh dwynud '
1 tpuyurdunnpny (0,6503), pwpdnud, Wi 213 3,560 75,83
inbnwihnfurd (gwlngun 1,040
Lnilp nbnnud Ynunwynidng i 42,5 0,545 23,16
UJwquynwawjh 26
dinwnwywt funpadwlbnph nwy bl 2,98 5,857 17,46
h=10ut
Utiinwnwiywb funnnduwlyh
wntinwnpnud d=325:1, d=514, qd.0 351 31,668 1111,55
190.0=39,54q
funnnywlh gpuiyniuwgnid 2
Bplzbnun twp phumdny d 35,79 1,967 70,41
<tinwinwna |hgp i 42,5 0,106 4,52
8.00nuniklp 1302,93
®nnng 4-pn
I <nnuihl wafuwunuGpGbn
LerGuwihl wuywnibph thlupbgnug
1 dtfuwbhquny (hhnpndnipAny) Vil i 120,0 10,351 1242,18
20w
1184 gnnibuinh dawlnid L )
2 wnbnwihnfunid pminngtipny 504 thgp 0 20,0 0.489 9.77
Lwfuonpnp Wuptgpuwd V120w
gnmbwnh Gauwlimd L wnbnuihnfung
3 pnuangbpny 508 Ynunwyniding, 0° 120,0 6,232 747,83
punanus kpulwywinnnny(0,650%),
nbnwinfund jguinen 1,048
V10q gpnibuinp Szwlnid L
wbnwihnfunid pnuynngbpny 504
4 Uniwnwiynidnyg, pupénud g 100,0 5,276 527,57
Epuluijunnnnnd(0,6543),
inbnwhnfunud (guwljnuun 1.04yd
5 | Lnylp I8Y gpnLbup g 400,0 3,815 1526,17
Lhgph futnwgned wiltnginnany ikl
6 htnpny 6 whgntdny 30ud ztpuwnh 0 20,0 0,740 14,80
hwuwnnippudp, oph twpwénuing
1.00nunititp 4068,33
1l Swlwuwphughl wuwwnwép
1 UJwquiinwiughl s6pn h=10us o 259,0 5,109 1323,14
2 huAwywquihl hhdp h=12u(C5) 62 1708,7 1,416 2416,77
3 | pue funznpwhunnhl wipbung 02 1689,7 4085 | 6901,93
4 | Duwp dwbnuhuwinhl w/eknn a2 1689,7 4,366 7376,50
2.00nwiikhp 18018,34
] UnnGwl0bp
SwdwpnipnuwihG 1116y gpntlwnp
1 wnbnwihnfund wwhniunhg 2,04d-hg g 171,0 4,193 717,03
Ynnbwlibph hpwywowgdwh hwadwp
2 LnnOwyakph hwppbgnud 62 815,0 0,020 16,29
Unnbuwyobph Juinwgned
3 wlLdngnnny 1 htitnpny 4 g 171,0 0,727 124,24
wlgnuiny, oph tiwpwéniing
3.00nwdklp 857,55




v Munhikn
1 Ujwqulnwgwiht 26pw h=10ud Wi 14,6 4,828 70,49
2 | swdwquih hhdp h=12ul(C5) 2 137,5 1,416 194,71
3 | Su dwbnuhwinhl wipbing 8 133,5 5,339 712,76
' 4.00nwakGp 977,96
v Uniinpbp
1 Uwquiynwyawihl 2k h=10uid g 46,8 4,828 225,93
2 hugwwaquihl hhiip h=12us(C5) 32 44,8 1,416 63,44
3 | e dwlnwhunnhl w/pbing G 44,8 5,339 239,19
UJwquiynwySwghl s6nuwn
4 | dblwnuywt unnnywlbtph wwl o® 0.8 5,850 4,68
h=10ui
Ubinwnwljwa unqndwyh
5 inbnwnpnd d=32504, d=514, qd.i 8,0 31,669 253,35
1g6.0=39,5Uq
lunnnduwith epwdkyntuwgnid 2
6 bzt twp phunung d 8,16 1,967 16,05
5.0inwdkop 802,64
\ Awlwywnhh Ywhwynpned
Bpplbybrh dwuh Grwgénts
rEp EYwnnphl Gepyny
1,5 Lo 0,271 56,537 15,32
6.00nwdkip 15,32
Vi Uphbuwnwlwb Yuenigwdptitn
u Utuinwnwlwh unnnywlyatn 1 tnbn
) d=3254d4,
6y gpniiunp lszulmui
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